
(Supersedes PG424-1) PG424-2
U-RP

161-058090-001
JULY, 2006

4
and

Installation, Operation

RENEWAL PARTS IDENTIFICATION

Type U-RP Radiant Heater

© 2010 Chromalox, Inc.

Specifications – Table A

Dimensions (In.)
B C D

Overall Heated Overall
Model Volts kW A Length Length Height

U-RP-410V 208 or 275 13.2 11-5/8 57-1/2 48 12
U-RP-410 240 or 480 13.2 11-5/8 57-1/2 48 12
U-RP-420V 208 or 275 26.4 23-5/8 57-1/2 48 24
U-RP-420 240 or 480 26.4 23-5/8 57-1/2 48 24
U-RP-510V 208 or 275 18 11-5/8 75-1/2 66 12
U-RP-510 240 or 480 18 11-5/8 75-1/2 66 12
U-RP-520V 208 or 275 36 23-5/8 75-1/2 66 24
U-RP-520 240 or 480 36 23-5/8 75-1/2 66 24

Please familiarize yourself with these instructions before
attempting to install or connect this radiant heater

4-5/8”

11-3/8”

D

8-1/8”
1-5/8”

4-7/8”

4-1/2”

C

B

A

Before installing
1. Open carton and remove heater at the place of installation.
2. Check nameplate volt and watt rating against your power supply

voltage and heating requirements of your installation. This name-
plate is located on one end of the heater.

MOUNTING
1. Framing: Fabricate structural support using angle iron or contin-

uous slot metal framing (manufactured by others). Dimension
framing per Table B and Figure 1 for your size panel.

2. Assembly: Position U-RP radiant panel on fabricated structural
support and attach using 1/2” diameter bolts of suitable length
(see Fig. 2).

3. Insulation: Where unusually high work temperatures are encoun-
tered, it may be desirable to insulate backs of heaters with high
temperature fibrous insulation. A suggested method of accom-
plishing this is indicated in Figure 2.

D
I

HG
F

Terminal Box Cover

2-5/16”

A

1-1/4” Conduit
Opening 1-5/32” x 9/16” Slot (Typ.) Mtg. Bracket (Typ.)

Figure 1 – Aluminum Extruded Section

Mounting – Table A

Dimensions (In.)
No. of Mounting

Model Brackets F G H I

U-RP-410V 2 44-3/4 — — 8-5/8
U-RP-410
U-RP-420V 2 44-3/4 — — 20-5/8
U-RP-420
U-RP-510V 3 62-3/4 32-1/4 30-1/2 8-5/8
U-RP-510
U-RP-520V 3 62-3/4 32-1/4 30-1/2 20-5/8
U-RP-520

Figure 2 – Typical installation

Insulation

Structural
Support

Bolt

Radiant Panel



FIRE/EXPOSION HAZARD.  This heater is not
intended for use in hazardous atmospheres where
flammable vapors, gases, liquids or other com-
bustible atmospheres are present as defined in
the National Electrical Code. Failure to comply can
result in personal injury or property damage.

The system designer is responsible for the safety
of this equipment and should install adequate
back-up controls and safety devices with their
electric heating equipment. Where the conse-
quences of failure could result in personal injury
or property damage, back-up controls are essen-
tial.
CAUTION: For your own safety –
Before energizing this heater:
1. Be sure all electrical connections are tightly made.
2. Be sure that all conductors are properly insulated.
3. Be sure that the terminal cover has been properly replaced.

A. Controlling Radiant Intensity –
Standard Radiant Panels are built to operate at 40 watts per

square inch on the element sheath. When it is desired to reduce
the radiant intensity, one or more of the following methods may
be used.
1. INPUT CONTROLLERS These motor-driven cycling devices

can be used to vary heater output capacity from 4 to 100%. They

are usually connected in holding coil circuit of magnetic contac-
tors. See Chromalox Radiant Heater Manual for further informa-
tion regarding Input Controllers and Contactors.

2. SOLID STATE THYRISTOR POWER CONTROLLERS
For best non-contact control of radiant heat, a Series #6
Chromalox Thyristor Power Controller with manual potentiome-
ter setting is recommended. Truly proportional output from 0-
100% can be easily dialed-in to suit the particular product or
process requirements. The Series #6 panels are pre-engineered,
pre-packaged assemblies in an enclosure with circuit disconnect
provided and ready for installation.

B. Maximum Ambient Temperatures –
CHROMALOX Radiant Panels are not recommended for

applications in ambient temperatures exceeding 450˚F. Higher
ambient temperatures mean shorter heater life.

Maximum work temperature in a given time depends on sev-
eral factors: Reflectivity of work, specific heat of work, mass of
work, kW input and losses from oven and time of exposure. As
work temperature increases, the work loses heat by radiation and
by convection to the surrounding ambient. Although it it a general
principle of Radiant Heater application that work temperature
conventionally exceeds ambient temperature, in cases where
extremely high work temperatures are desired, it is necessary to
enclose the heaters in order to increase the ambient temperature.
If evaporation of a liquid is desired as a result of increasing work
temperature, it is necessary to provide ventilation air in order to
carry away the evaporated liquid. Under carefully engineered cir-
cumstances, a maximum work temperature of 600˚F may be
attained.

2

MOUNTING (cont’d.)

WIRING

4. Ventilation: Where solvents, water etc. are being evaporated
from work in process, it is necessary to provide substantial quanti-
ties of ventilation air to carry away the resulting vapors.

FIRE HAZARD: Since Radiant heaters are capable
of developing high temperatures, extreme care
should be taken to:
A. Keep combustible materials at least 6” away

form sides and back of heater housing and its
supporting brackets and spaced far enough in
front of heater (heating element side) so ther-

mal radiation from the elements will not ignite
combustible materials.

B. If combustible materials are being processed,
stoppage of process should initiate immediate
heater shutdown and interception of residual
heat from radiant heaters (use radiation baffles
or move heaters away from work).

C. In the case of solvents of an explosive nature,
ventilation air must be in sufficient volume to
dilute the solvent vapor so that explosive mix-
tures cannot occur, refer to NFPA 86, Standard
for Ovens and Furnaces.

ELECTRIC SHOCK HAZARD.  Disconnect all power
before installing or servicing heater.  Failure to do
so could result in personal injury or property dam-
age. Heater must be installed or serviced by a
qualified person in accordance with the National
Electrical Code, NFPA 70. 

ELECTRIC SHOCK HAZARD.  Any installation
involving electric heaters must be performed by a
qualified person and must be effectively grounded
in accordance with the National Electrical Code to
eliminate shock hazard. 

1. Electrical connections to the Radiant Panel are made through the
1-1/4” dia. opening in the terminal housing.

2. Wiring should be run in flexible or rigid metal conduit and must
be installed in accordance with the requirements of the National
Electric Code and such other local requirements as may be applic-
able.

3. Access to the  busbars is obtained by removing the screws in the
terminal box cover.
NOTE: Where circuit wiring is installed in locations of high
ambient temperature, conductors should be insulated in accor-
dance with requirements for temperature and voltage.

4. A 9/32” dia. hole is provided at each end of the busbar for the pur-
pose of connecting the circuit wiring to the type U-RP radiant
panel. Use 1/4-20 bolts, nuts and lockwahsers for making connec-
tions. It is suggested that crimp-on connectors with a hole for 1/4”
bolt be attached to the ends of circuit wires to facilitate making
these connections.

OPERATION



ELECTRIC SHOCK HAZARD.  Disconnect all power
before installing or servicing heater.  Failure to do
so could result in personal injury or property dam-
age. Heater must be installed or serviced by a
qualified person in accordance with the National
Electrical Code, NFPA 70. 

To Remove Heating Element
1. Remove terminal cover screws  13  and terminal cover   3  at ter-

minal end of heater.
2. Disconnect heating element from electrical leads at both ends.
3. Remove screws  12  and nuts  10  from porcelain terminal blocks 

9  and  11 .
4. Remove element support clips  7  and  15  and secondary insula-

tion bushings.
5. Lift element out of heater.

To Install Element
Observe instructions for removing element and proceed in

reverse order. Be sure to replace secondary insulation bushings.
Care of Reflectors

Reflectors should be cleaned periodically. A mild soap and
water solution or fine cleaning powder is best although more
drastic means may be required if reflectors are badly soiled by
chemical or other deposits. The reflector is aluminum. DO NOT
use alkali cleaners since alkalies will dull reflector. Mild non-
alkaline cleaners, such as used for scouring kitchen sinks, may be
used. Reflectors are replaceable and may be purchased from
Chromalox.

3

MAINTENANCE

RENEWAL PARTS IDENTIFICATION

Number 1 2 6 7 15
of kW Per Element Reflector Insulation Element Bushing

Model Volts Elements Element Model No. Sheet Bushing Support Clip Retaining Clip

U-RP-410 208 or 275 3 URPT-444V 234-013411-082 (3) 032-013454-001 (48) 059-014304-002 (12) 059-017175-001 (12)
240 or 480 URPT-444

4.4
U-RP-420 208 or 275 6 URPT-444V 234-013411-082 (6) 032-013454-001 (96) 059-014304-002 (24) 059-017175-001 (24)

240 or 480 URPT-444

U-RP-510 208 or 275 3 URPT-560V 234-013411-083 (3) 032-013454-001 (60) 059-014304-002 (15) 059-017175-001 (15)
240 or 480 URPT-560

6.0
U-RP-520 208 or 275 6 URPT-560V 234-013411-083 (6) 032-013454-001 (120) 059-014304-002 (30) 059-017175-001 (30)

240 or 480 URPT-560

NOTE: Part numbers suffixed by a number in (  ) indicates the quantity of the same part number used



2150 N. RULON WHITE BLVD., OGDEN, UT 84404
Phone: 1-800-368-2493         www.chromalox.com

RENEWAL PARTS IDENTIFICATION (cont’d.)

Quantity Used Per Heater
Description Part Number U-RP-410 U-RP-510 U-RP-420 U-RP-520

PARTS COMMON TO ALL HEATERS

3 Terminal Cover 306-014405-001 3 3 6 6
4 Terminal Cover Clip 056-014401-002 3 3 6 6
5 End Plates 220-016382-001 3 3 6 6

(Terminal End) 220-017278-001 3 3 6 6
8 Terminal Screw 248-046044-002 6 6 12 12

MISCELLANEOUS HARDWARE AND PARTS

9 Terminal Block 303-014317-001 3 3 6 6
10 Hexnut #8-32 200-049592-029 3 3 6 6
11 Terminal Block 303-014316-001 3 3 6 6
12 Screw #8-32 x 2-1/2” Long 248-075512-390 3 3 6 6
13 Screw #8 x 3/8” Long 248-075519-080 6 6 12 12
14 Screw #8-32 x 3/8” Long 248-075512-053 12 12 24 24
16 Saddle Clamp 238-026539-001 6 6 12 12
17 Screw 1/4-20 x 3/8” Long 248-075512-260 4 4 4 4
18 Washer 1/4” 328-075528-053 4 4 4 4
19 Hexnut 1/4-20 200-075520-070 4 4 4 4
20 Screw 10-32 x 2-3/4” Long 248-075512-419 4 4 4 4
21 Cap Screw 3/8-16 x 1/2” Long 345-115337-222 6 9 9 18
22 Lockwasher 328-024417-023 6 9 9 18
23 Screw 1/4 x 1-1/4” Long 248-075409-314 6 9 12 12
24 Screw 10-32 x 3/8” Long 248-075512-089 1 1 1 1
25 Base Plates 015-051109-001 1 1 — —

015-043319-001 — — 1 1
26 Terminal Box Covers 306-014374-001 1 1 — —

306-014374-002 — — 1 1
27 Connecting Channels 050-051107-001 2 3 — —

050-051107-002 — — 2 3
28 Terminal Box End Plate 306-014448-001 2 2 2 2
29 Bus Bar Support 219-0143800001 2 2 2 2
30 Bus Bar Support 219-014381-001 2 2 2 2
31 Bus Bar 031-051116-001 2 (1ø) 2 (1ø) — —

3 (3ø) 3 (3ø) — —
031-051116-002 — — 2 (1ø) 2 (1ø)

— — 3 (3ø) 3 (3ø)
32 Bushing (with Locknut) 032-075008-003 3 3 6 6

Limited Warranty:
Please refer to the Chromalox limited warranty applicable to this product at

http://www.chromalox.com/customer-service/policies/termsofsale.aspx.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


